(5) REXMEER - EEDME (FHI1EIARRA)

(7) [#%3E&:UR]
[ISER =2 JuIN k% g
%4 JUIN TR 1L JHE U it EE=%: Flkr LA
X f OV 2% m (1R ) T2~ R 2 ok FBI~F9 %] =]~ )\ R AN~ VR St~ Rl i~
288.9km 6.3km 232.3km 462.6km 148.8km 66.1km
JIN~ B2 (IB#R) & % H~f E
49.3km (23.5km)
[A3]
281.6km
LA (mm) 1,435 1,067 1,067 1,067 1,067 1,067
B (rir) 11 - 96 109 40 23
RS bR G 66 2 21 131 30 3
10 x5% (i) 1,072 1 956 1,243 565 168
s OE % Ekd = = 362 527 184 111
FofE - - - - - -
EiRYi = = 7 10 5 4
FATE - - 14 33 9 5
ait = = 383 570 198 120
B B AR O A7 f H H H H H H
fFotaeskdn | PAE U B H [ o> R B A e 1 H#EpAZ<R H#EpAZ<R H#EpAZ<R H#EpAZ<R H#EhpAZ<R
B| e e I CTC (PRCH}) b3 CTC (PRCH}) CTC (PRCHF) CTC (PRCHF) CTC (PRCHF)
B BYFI dE R B E S (J52) (AT Bt L —il iRk (7o 520 | ATS-DK » 7 DX NG FARE ATS-DK« 7P 2N S fr b ATS-DK« 7P Z N4 S fm b ATS-DK« 7P 2N o fr b ATS-DK« 7P Z N4 o fr b
ATS-SK-ZEE = ATS-SK-ZEE = ATS-SK-ZEE = ATS-SK-ZEE =
Eubal AC 25,000V DC 1,500V AC 20,000V AC 20,000V AC 20,000V AC 20,000V [#rZ~FE)11]
&S R R AR BREEN) [~4rE]
AR AR AR AR A
R
SRR e 1B B 260km/h 95.0km/h 130.0km/h 130.0km/h 130.0km/h 95.0km/h
FE 202.8km/h 58.11m/h 64.0km/h (%~ KA H) 99.2km/h (1% ~K47) 85.5km/h (1% ~ Kiy) 60.6km/h (142 ~i& J7)
69.0km/h (K53 ~E i)
62.5km/h (& R~ JEE V2 &)
[ERGECRAE N [P A Afikg gk ]
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(7) [8%3&:JUR]
[ISER = 2N U k% g
%4 USN; HEHR PR A 2 LR HLAEHR NERERR
X f OV 2% m (1R ) USTESab N REAR~KGy JERT L~ iR R~ IR~ R IR~
141.5km 148.0km 48.8km 68.7km 42.6km 124.2km
AR~ {375
25.7km
[A3t]
68.3km
LA (mm) 1,067 1,067 1,067 1,067 1,067 1,067
B (o ir) 35 35 13 22 29 26
RIS bR G 29 38 6 17 15 55
10 x5% (i) 341 213 185 182 188 239
s OE % 1A 228 187 57 86 132 80
FofE - - - - - -
ERYE 6 3 8 4 4 15
AT 13 11 2 35 16 15
ait 247 201 67 125 152 110
B H AR O A7 f H H H H H i3
(EReR S I e Rk B B PR 2 < (HE R ) BEPAZSKRI R~ FEME 53] | B@pAZ<K Rk H B PR 2 < (HE R ) B #PAE R E~ ] Rk B B E <B4 5)
Rk B 8P <X (i ] 3K) Rk BB < (R 1) (LA~ 75 1]
B AL I CTC (PRCHF) CTC (PRCHF) CTC (PRCHF) CTC (PRCHF) CTC (PRCHF) 3
BBy g ik % (50 |ATS-DK- 7 V2V Binikzl ATS-DK« 7P Z N4 S fr b ATS-DK« 7P 2N S fr b ATS-DK« 7P Z N4 S fm b ATS-DK* 7 ANV SAnii ATS-SK-Z =
ATS-SK-ZEH ATS-SK-ZEE = ATS-SK-ZEE = ATS-SK-ZEE =
& PR AC 20,000V K~ FEME 45 iEA~IE#E K] | AC 20,000V PR DC 1,500V [~ ] PR
R R R R AR R
SRR e 1B B 95.0km/h 95.0km/h 95.0km/h 85.0km/h 85.0km/h 85.0km/h
FE 59.4km/h (12 ~K2%3) 52.3km/h (FEAR~K57) 55.3km/h 36.2km/h 56.8km/h (I e~ FEHE) 53.6km/h (J\ R~ A7)
39.6km/h ([LIA~F 75 H) 36.9km/h (N5 ~H12)
44.0km/h (FHA~HEN)
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(7) [8%3&:JUR]

[ISER = 2N U k% g
%4 EHHR FHER JEHEHR KASH TR ISR
X f OV 2% m (1R ) HIR A~ PP~ DA B~ P R Bl ~ Fof L EE~FE BRI~ )| RS
61.6km 25.4km 42.5km 47.6km 25.1km 13.3km
LA (mm) 1,067 1,067 1,067 1,067 1,067 1,067
B (o ir) 15 14 12 11 9 4
RIS bR G = = 2 9 4 1
10 x5% (i) 97 45 133 132 84 31
BT 5 15 82 45 56 65 28 20
FofE - - - - - -
ERYE = = 1 1 - 2
AT 4 1 17 - - 5
ait 86 46 74 66 28 27
B H AR O A7 f i3 H H B[ Flif~ 27 R A] H H
(EReR S I e Rk B B E <B4 5) ek E PR <k (Bt ) [P =i~ | [ BIEA 2 < Xl Pa R~ LA ) Rk B B E <B4 5) H#EhpAZ<R Rk H B PR 2 < (HE R )
B EEE < k) [T ~TF25] | #5k i BB < (s ) [ LA~ AR
B B P A 13 CTC (PRCH}) CTC (PRCH}) i3 CTC (PRCH}) CTC (PRCH})
B By difE R dE S (U520 [ATS-SK- &&= ATS-DK 7 ANV IF SAnii ATS-DK 7 ANV IF SAnit ATS-DK 7 A NVIF SAnit ATS-DK* 7 ANV SAnii ATS-DK+ F P # NV 1F SAnik
ATS-SK-ZEE = ATS-SK-ZEE = ATS-SK-ZEE = ATS-SK-ZEE = ATS-SK-ZEE =
#Hh PR EREER) DC 1,500V [~ PR ] AC 20,000V R~ 727 R ] |AC 20,000V A
R R R R AR R
SRR e 1B B 85.0km/h 85.0km/h 85.0km/h 95.0km/h 100.0km/h 85.0km/h
FE 43.0km/h 29.4km/h 42.5km/h 55.0km/h 68.5km/h 49.9km/h
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[ISER = 2N U k% g [IR&F]
%4 H AR Bl 2SR = A FRfE BRI
X f OV 2% m (1R ) A E IR~ A S &~ E 2 H Fh~=f JEE U 5 v e~ kil
88.9km 1.4km 25.6km 87.8km
LA (mm) 1,067 1,067 1,067 1,067
B (o ir) 27 1 8 35 279
RIS bR G 25 = 2 12 253
10 x5% (i) 195 11 90 228 4,005
s OE % 1A 103 = 35 135 1,184
FofE - - - -
ERYE 4 = 4 3 26
AT 36 - 3 15 61
ait 143 = 42 153 1,271
B H AR O A7 f A FEIR~AAE] H i3 A VR e~ 1)1 ]
(EReR S I e R E PR <X (L) [FE B~ M 5] |55k B B EA 2 < X (M el %) Rk B B E <B4 5) Rk H B PR 2 < (HE R )
Rk E B BT %) [ #~ i ]
B B P A CTC (PRCH}) CTC (PRCH}) i3 CTC (PRCH})
BBy g ik % (50 |ATS-DK- 7 V2V Binikzl ATS-SK-Z = ATS-SK-Z = ATS-DK« 7P Z N4 S fm b
ATS-SK- £ H 2 ATS-SK-ZE &=
Eubal AC 20,000V [ &= i~ H 5] AC 20,000V A A
&S R R R
SRR e 1B B 85.0km/h 85.0km/h 85.0km/h 85.0km/h
FE 36.3km/h 42.0km/h 57.7km/h 49.0km/h (FE Y & v s~ Fi545)
36.7km/h (F5 75 ~FLiRF)

IR EAR DR




